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1 [RFEA A WRE (pH) sk 5. 8-8. 6[#kk 5. 88, 6wk 5. 8-8. 6|k 5. 8-8. 6k 5.8-8.6

2 |/EM b P RIEER R & (BOD) sk 15 PL ek 15 LL Fl#ek 15 BL Rl 15 BL Fleek 15 DL F

3 bz R Bk & (CoD) sk 80 (60) |+t 80 (60) [* 160 (120) [* 160 (120) |* 160 (120)

4 [FFilEmE & (SS) sepk 40 DL Flsek 40 BL Tl 40 DL Tl 40 BL Rl 40 LI F

A= | 5 | RIGEREE (8/mL) #x3, 000 LL T |33, 000 LL F[##£3, 000 LL Fl##x3,000 LL Fl##x3,000 LL T

= 6 |BEEGAHE * 120 (60) |* 120 (60) [* 120 (60) [* 120 (60) |* 120 (60)

7 |HEAE * 16 (8) |* 16 (8) |* 16 (8) |* 16 (8) [+ 16 (8)

e emmem x 5 0L T [ 5 LL T [ 5 Ll T 5 L 5Ll T
—— / VL Ui e S A B

gl 9 B fEIE |+ 30 LL F|* 30 LL R 30 BLOF* 30 BLOF|* 30 LT

|10 7 x ) — VI * 5 Ll F* 5 LI F|* 5 UL F|* 5 LI B[+ 5 U F

| R CEOAY * 3 BL T 3 LLFx 3 LL Flx 3 UL Flx 3 U T

B 12 |#ign R 02 L& * 2 DL F|* 2 BL Tl 2 LL Tl 2 Lh Fl* 2 LT

13 | L O DfbEl (R * 10 LL F|* 10 BL T* 10 LL F* 10 LL FI* 10 LT

4|~ B ROZObEY (EREE) * 10 LL F|* 10 BL F* 10 LL F* 10 LL F* 10 2L F

157 7 AR OZEOLEY * 2 Bl F* 2 LL = 2 LL OF|* 2 L OF[* 2 LT

16|=vrn ok 2 LI |k 2 LI F|xx 2 LT[ 2 LL [ 2 U T

1|7 R AROZEDILAEY sk 0.03LL Tl 0.03LL Tl#+x 0.03 LA F[#x 0.03 LA Tl 0.03 2L T

2 |> 7 AbEW #k 0.5 LL Tk 0.5 L Tk 1 LA Tl 1 BL T 1 U F

3 | AbE sk 0.5 PL Tl 0.5 LL Ff#x 1 LU R 1 LU Rk 1 Y F

4 R OZ DB * 0. 154 T|* 0.18L F|* 0.1 LL F|* 0.1 LL F[* 0.1 LL F

5 [RfliZ = MMEEW #k 0,250 Flwk 0.25L0 Fl#* 0.5 LL F[#* 0.5 LL Fle 0.5 L& F

6 |OFEKOZTDILEY * 0. 104 Flx* 0.1LL F|* 0.1 LL Fl* 0.1 LL F* 0.1 LA F

7 [KER, ToUXAKEREOMOKEMLEY [+ 0.005LL F|* 0.005LL F[* 0.005 LL F[* 0.005 LL F|* 0.005 LL T

8 |7 X LKkE(LEDY s E R AV il ShanZ xR Eh2v s RS2 2 LR ShAan oL

9 |RVHEe 7 ==/ (PCB) * 0.003LL F|* 0.003LL F[+ 0.003 LL F[* 0.003 LL Fl* 0.003 L T

IO BNV = 0= ==t ol POV * 0.3LL T[* 0.3 LL T|* 0.3 LL T[* 0.3 L T|* 0.3 LA T

e IS8 P2l N/ =R ===t Al P * 0. 1 LA [* 0.1 LA T]* 0.1 BL F* 0.1 BL T|* 0.1 LL T

127 AH * 0.2 L T[* 0.2 LL F)* 0.2 LL FI* 0.2 L F|* 0.2 UL F

B | 13 DAl 3R * 0.02 L0 F|* 0.02LL R+ 0.02 BL F[* 0.02 BL F|* 0.02 L& F

4(1,2-Y 7oz * 0.04 LL F|* 0.04LL F[+ 0.04 BL Tl 0.04 BL Fl* 0.04 L T

5|, 1-vY7rr=F L * 1 LL T 1 LL F* 1 L T 1 oL T 1 UF

FHl16|vA-1,2-Y7anF L * 0.4 LL F[* 0.4 LL F|* 0.4 LL Fl* 0.4 LL F|* 0.4 LL T

171, ,1-rV 7 mmxi * 3 LL R 3 LL T 3 UL T 3 UL T* 3 LR

18]1,1,2-hV 7y ¥ 0.06 2L F|* 0.06LL F|* 0.06 LL F|* 0.06 LL F[+ 0.06 2L F

A ,3-Y7uunraly x 0.02 BL Flx 0.02 8L Fl+* 0.02 BL Flx 0.02 BL Flx 0.02 L F

20|1F VT A * 0.06 LL F|* 0.06 L0 F[* 0.06 L T|* 0.06 L T|* 0.06 LA T

21 =y % 0.03LL Fl* 0.03LL F|* 0.03 Lk F|* 0.03 BL F[+ 0038 F

22 |[FARINT ¢ 0.2LL F|* 0.2 LL T [* 0.2 LL T* 0.2 BL T* 0.2 LL F

23 [ Ro¥ * 0. 1LLF|* 0. 1 LT[+ 0.1 Bk T* 0.1 BL T* 0.1 2L T

24 | B L RO DAY * 0. 1L F* 0. 1L |+ 0.1 BL T* 0.1 BL T[* 0.1 BL F

25 129 F MR OZDILEY ok 10 BL F | 10 BL Tk 230 LL F |k 230 BL |k 230 LI F

26 [ 5o R M TEDILED ok 8 LA |k 8 LL Tk 15 LL Rl 15 DL Rk 15 B0 F
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28 |1, 4~V A x4 * 0.5LL F|[* 0.5LL F|* 0.5 LL F* 0.5 LL F|* 0.5 LL F
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2 |KERUTZE DL EY) B 1 LIZ->&0. 00504 F
3 | R U LXITEDILEW FRIE 1 LIZ-D 0. 09LL
4 [$aixEDILEY R 1 LIZ>&0.3LLF
5 | AR LS R 1 LIZ &1L F

6 |7 v AW B 1 LI & 1L.5LLF
7 [HEFETEOILE Y Mg 1LIC>%0.30LF
8 |7 MLEW B 1LIZ>&E1LLF

9 |RVHIEZ ==/ (PCB) iR 1 LIZ-> 0. 00324 F
0| YV Z7er=F1L g 1LICH>X0. 1LLF
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5|1, 1-YZ7uexFL Mg 1LIZOX1LLF
16| A-1,2-Y7nuxF L g 1 LI X0. 4LLF
17|11, 1, 1-cVZamxzX& MR 1 LIZDE3LLT
18|1,1,2-hV ZmmxX& R 1 LIZD X 0. 06LL T
19(1,3- 7o rulys e 1 LI2>%0. 0201 F
20 |F 7 5 A ik 1 LIZDX0.06LL T
21 |v~2 v Mg 1 LIC>%0. 03LLF
2|F AN T R 1 LIZ D X0, 2LLF
23 [_¥ ik 1 LIZoX0. 1LLF
24 | L U RO DIRE Y ik 1LIC>%0.3LLF
25 |1, 4- A %Y g 1 LI2oX0. 5L F
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9|, n = v 7T F L T L F b RKKFUIBTAZEERNE T4 0. 0092 F
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17 | % ¥ L VIRGHIZBIT D EAENE 500, 4LLF
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BEHAK D £ Q=0.001 [0.00l <Q= 0.1 0.1<Q
1 AFIVANT T2 0.03 0. 007 0. 002
2 IS 0.1 0. 02 0. 005
3 fiif A F v 0.3 0.07 0.01
4 “Hifb A F L 0.6 0.1 0.03
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(4) RAE., DEKEDHE

ISR S
B Wbt ¥ — HaFE s 7 —
TRAKE: | B | HiRK [WRAmK| LR - 8 | FAKE | BEY | BRK |[WRDEX -
(FE[E) PRk | VB K & | ALBRK & [ A GEm) () | BRK & | ALBR K & [ LBk &
A (m) (m) (m) (m) (k) (m) (m) (m) (m)
i HULEX
44 350,614 1,103] 2,449 VIR
45 383,020| 1,049 3,519 2,890
49 931,106| 2,551 7,576 4,369
50 943,986| 2,579 6,137| 5,015
54 1,258,036| 3,437 8,636 6,647 42, 690
55 1,415,224| 3,877| 6,545| 5,233 43, 642
59 1,996,504| 5,470 8,792| 7,771 44,782
60 2,317,229 6,349| 10,297| 10, 254 45,987
61 2,491,676 6,827| 10,155 10,132 46,928
62 2,847,078 7,779| 11,773| 10, 060 48,939
63 3,105,924 8,509| 17,116| 12,208 52,100
TR | 3,380,012 9,200 14,684| 12,920 54, 156
2 3,655,835| 10,016| 16,201 12,515 53,726
3 3,866, 172| 10,563| 14,886 13,199 55, 588
4 3,891,040| 10,660| 14,085 12,219 56, 342
5 4,245,076| 11,630| 19,586| 13,908 56, 064
6 4,440, 651| 12,166| 19,314| 16,816 57,410
7 4,547,867| 12,426| 19,704| 14,674 55, 642 433,038 1,280 1,979 11,9790 0
8 4,615,096| 12,644| 21,891 15,942 56, 171 910,024|  2,496| 3,807 3,606
9 4,864,904| 13,329| 18,969 17,545 56,877| 1,232,544 3,376 4,870 4,499
10 5,095,272| 13,960| 23,017 17,561 56,840 1,463,507 4,009 5,760| 5,046
11 5,427,052| 14,828| 24,326| 16,979 55,053 1,574,616 4,302| 7,863| 5,797
12 5,520,467| 15,124| 24,854 19,663 53,188 1,693,657 4,640| 8,272| 6,528
13 5,747, 642| 15,747| 28,298 19,832 51,095 1,821,947 4,992| 9,188 7,325
14 5,892,527| 16, 144| 26,934| 19,716 49,338| 1,825,954| 5,003 8,720 6,156
15 5,784,903| 15,805| 27,203| 18,490 47,690| 2,026,755| 5,536| 9,339 6,759
16 6,084, 141| 16,668| 32,525 20,642 47,024 2,168,510|  5,941| 20,695 7,768
17 5,860, 908| 16,057| 32,595 19,719 43,422| 2,174,933| 5,957| 10,053| 7,344
18 5,859,894| 16,054| 35,046| 20,310 43,186| 2,317,172| 6,348 14,202| 7,807
19 5,984,015| 16,349| 26,931| 22,034 39,690 2,502,967 6,839 10,822| 8,129
20 5,769, 084| 15,805 28,652 22,077 38,027 2,606,183 7,140 11,255 8,732
21 5,883, 740| 16,120| 36,559| 19, 334 35,736 2,786,084 7,633 11,165 8,944
22 6,063, 280| 16,612| 27,044 19,077 31,843 2,984,281 8,176 12,447| 9,609
23 6,513,519| 17,797| 46,500 22,330 28,619 3,092,431 8,449 19,186 9,238
24 6,287,564| 17,202| 31,584| 23,277 25,583 3,126,992 8,567 18,021| 8,897
25 6,525,611| 17,878| 57,690 21,917 23,687| 3,171,025 8,687 37,609 9,092
26 6,275,848| 17,194| 34,770 21,017 21,047| 3,145,452 8,618 15,390| 9,419
27 6,009, 197| 16,419| 31, 143| 20,555 20,137 3,201,788 8,748 12,734| 9,349
28 6,261,895| 17,156 42,264| 22,429 18,715| 3,315,249| 9,083| 20,261| 9,789
29 6,256, 934| 17,142| 56,135 21,305 16,912| 3,366,932| 9,224| 31,312 9,748
30 6,487,572| 17,774| 56,714 21,412 16,436 3,442,958|  9,433| 35,482| 10,048
4G | 6,052,705| 16,537| 32,958 19,722 15,109| 3,371,815 9,213| 18,198 10,095
2 6,338, 737| 17,366| 34,775 20,402 14,695 3,490, 174|  9,562| 18,197| 10,954
3 6,230,894| 17,070| 36,012 21,391 14,614 3,497,476| 9,582| 17,131| 9,849




FrE BRI R N IE P KGE R

KA BREL > H— R Y 7 — TG L 5 —
TAKE [ B [ HRR | FAKE | BV | HRKR [AKE| B | HEKR o
(AR M) [JLBKEPLEKRE (AR H) | ALBK G JLBE K EE| (AR H]) | A0 BRK B | ALK &

N Cnd ) ) () [ (nd) [ Cnd ) | (nd ) JCnd ) | Cnd ) () | Cod )

w59 51,179 | 117 580 e

60 | 69,491 | 190 | 545

61 | 70,608 | 193 | 612

62 | 73,223 | 200 | 596

63 | 76,365 | 209 | 623

ot 78,049 | 213 563

2 | 80,327 | 220 | 542

3 | 79,375 | 216 | 546

4 | 76,234 | 209 | 563

5 | 72,468 | 199 | 479

6 | 69,477 | 190 | 525

7 | 52,202 | 143 | 486

8 | 55002 | 151 421

9 | 55101 | 151 415

10 | 54,409 | 149 | 400

11| 53,464 | 146 | 374

12 | 52,228 | 143 363

13 | 54,232 | 149 | 357

14 | 52,687 | 144 | 342

15 | 50,704 | 139 | 342

16 | 49,405 135 337 | 18,355 | 50.3 | 105.5 T .

17 | 47,687 130 288 | 28,203 | 77.2 | 166.7 | 11,886 | 43.6 | 93.3 [MAEEE

18 | 47,618 | 130 | 308 | 30,578 | 83.7 | 182.6 | 28,448 | 77.9 | 173.3

19 | 48,812 | 133 309 | 29,235 | 79.8 | 212.8 | 32,578 | 89.0 | 238.9

20 | 47,737 | 131 313 | 33,011 | 90.4 | 178.7 | 41,450 | 113.6 | 215.9

21 | 48,055 | 132 346 | 34,554 | 94.6 | 185.1 | 48,581 | 133.1 | 231.9

22 | 48,033 | 131.6 | 268 | 30,784 | 84.3 | 173.2 | 50,940 | 139.6 | 246.2

23 | 59,062 | 161.4 | 562 | 31,343 | 85.6 | 190.4 | 50,537 | 138.2 | 315.8

24 | 45,104 | 123.6 | 244 | 30,065 | 82.3 | 165.3 | 50,260 | 137.7 | 249.2

25 | 49,389 | 135.3 | 583 | 31,485 | 86.2 | 264.9 | 51,927 | 142.3 | 699.4

26 | 45,771 | 125.4 | 293 | 29,520 | 80.8 | 158.7 | 48,936 | 134.1 | 266.5

27 | 43,165 | 117.9 | 213.5 | 26,805 | 73.2 | 157.2 | 47,349 | 129.3 | 237.1

28 | 43,487 | 119.1 | 248.7 | 27,860 | 76.3 | 152.5 | 45,375 | 124.3 | 244.9

20 | 41,544 | 113.8 | 342.5 | 26,057 | 71.3 | 164.9 | 44,723 | 122.5 | 313.2

30 | 41,207 | 112.9 | 555.7 | 25,820 | 70.7 | 227.6 | 44,284 | 121.3 | 733.8

4moc| 35,360 | 96.6 | 204.6 | 24,073 | 65.7 | 136.5 | 41,972 | 114.7 | 234.1

2 | 36,143 | 99.0 | 186.3 | 21,496 | 58.8 | 100.0 | 41,789 | 114.5 | 179.1

3 | 33,762 | 92.4 | 298.9 | 20,763 | 56.8 | 136.1 | 41,431 | 113.5 | 341.6
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pEAH e v 2 — F e v 5 — Tt v s — Ko o 4 —
sppe [TEAKEL) B BECOK | TAKE B | B | WEAKE| BV | RROR |AKE B | ARK | e
(FERT) | ALBUKE: | UK E( (FFRD) | AABUKE | ABDKE( () | AHBUKE | QBEUKE | (FR) | AHBKE | LBk E
(ni) (nd) (ni) (ni) (ni) (ni) (ni) (ni) (ni) (ni) (ni) (n?)
6 2,154 14 -
7 5,758 16 -
8 5,721 16 -
9 5, 380 15 35
10 6, 387 18 35
11 6, 681 18 31| 10,641 29 36
12 6, 440 18 24 15,933 44 72[ 4,862 13 21 - - -
13 6, 560 18 26 15,933 49 59[ 15,933 27 35 - - -
14 6,108 17 23| 18,755 51 58 11,209 31 34 - - -
15 5,245 14 17 19,624 54 63| 12,836 35 39 1,338 3 -
16 5, 160 14 18] 19,817 54 59 12,373 34 38[ 1,386 3 -
17 5, 348 15 20 20,220 55 63[ 12,354 34 36 1,584 4 -
18 5,235 24 32 20,297 27 36| 12,083 33 37f 1,529 4 -
19 5,214 14 23 19,632 54 85 11,953 33 43 1,397 3 -
20 5, 455 15 24| 19,473 53 67[ 11,821 32 60 1,404 3 -
21 5,503 15 —| 17,291 47 —| 11,544 32 —| 1,381 3 -
22 9,053 25 —| 16,827 46 —| 9,958 27 —| 1,489 4 -
23 8,433 23 —| 16,956 47 —| 11,118 31 —| 1,499 4 -
24 9, 551 26 —| 16,197 44 —| 11,193 31 —| 1410 3 -
25 | %3, 089 8 —| 16,348 44 —| 12,363 33 —| 1,334 3 -
26 2,651 7 —| 15,945 44 —| 11,725 32 —| 1,254 3 -
27 2, 661 7 16| 15,692 43 62[ 11,623 31 42[ 1,286 3 -
28 2, 640 7 25 15,360 42 62[ 12,181 33 88[ 1,275 4 6
29 2,078 6 17] 15,280 42 63[ 11,491 31 123 1,307 4 5
30 2,133 6 —| 14,123 39 72[ 10,428 29 213 - - -
SExiible 1,978 5 —| 13,901 38 56 9,265 25 46 - - -
2 2,405 7 14| 13,033 36 53[ 9,764 27 80| 1,278 4 -
3 4,818 13 —| 13,019 36 62| 8,820 24 69 1,177 3 -
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